MainRoutine - Ladder Diagram
GE6:MainTask:MainProgram

Page 1
2/23/2009 9:41:03 PM

Total number of rungs in routine: 91 E:\GE6.ACD
0 { NOP |
OUTPUT
INPUT 1 INPUT2 INPUT3 INPUT 4 1
INP_1 INP_2 INP_3 INP_4 OUT_1
<|[0].0> <|[0].1> <|[0].2> <|[0].3> <0I[0].0>
1 1 E 1 E 1 E 1 E
OUTPUT
INPUT5 INPUT6 INPUT7  INPUT 8 2
INPM5 INPM6 INPM7 INP_8 OuT_2
<l[0].4>  <I[0].5>  <I[0]l.6>  <I[0].7> <0[0].1>
2 | [ | / /
INPUT INPUT INPUT OUTPUT
INPUT 9 10 11 12 3
INP_9 INP_10 INP_11 INP_12 OouT_3
<I[0].8>  <I[0].9> <I[0].10> <I[0].11> <0[0].2>
3 1 E 1 E 1 E 1 E
INPUT INPUT INPUT INPUT
13 14 15 16
INPO13  INPO14  INPO15  INPO16
<I[0].12> <I[0].13> <I[0].14> <I[0].15>
| ==/ / / =
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e OUTPUT
e INPUT 4
e 17 OouUTM4
e I[1].0 <0J0].3>

4 e H F
© INPUT
e
e 18
1[1].1
€ %]r
e 1 C
© INPUT
e
e 19
I[1].2
e %]r
e 1 C
: INPUT
e 20
I[1].
: 3
e 0
e
e INPUT
© I§14
e (114
e 1 C
e
e INPUT
:
e 1 C
e
e INPUT
Rk
e 1 C
e
e INPUT
e 24
e I[11.7
e 1 E
e
OUTPUT
INPUT 5
25 OUTM5
I[1].8 <0[0].4>
5 H F L
OUTPUT
INPUT 5
26 OUTM5
I[1].9 <0[0].4>
=/ U]
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10

11

12

13

OUTPUT
INPUT INPUT INPUT INPUT INPUT INPUT INPUT INPUT 6
27 28 29 30 31 32 33 34 OUTM6
M1.10 1M1 112 11113 1114  I[1]15  1[2].0 1[2].1 <0[0].5>
/ L / /
AUX AUX AUX AUX AUX AUX AUX AUX OUTPUT
INPUT INPUT INPUT INPUT INPUT INPUT INPUT INPUT 7
1 2 3 4 5 6 7 8 OouTM7
R[65].0 R[65].1 R[65].2 R[65].3 R[65].4 R[65].5 R[65].6 R[65].7 <0[0].6>
sl =l sl sl sl sl sl sl
1C 1C 1C 1C 1C 1C 1C 1C
AUX AUX AUX AUX AUX AUX AUX OUTPUT
INPUT INPUT INPUT INPUT INPUT INPUT INPUT INPUT 8
9 10 11 12 13 14 OUTM8
R[65].8 R[65.9 R[65l.10 R[65.11 R[65].12 R[65..13 R[65].14 R[65].15  <O[0].7>
T / / / | | | ——
AUX
INPUT OUTPUT
65 9
R[69].0 0[0].8
1 =
1C
AUX
INPUT OUTPUT
66 10
R[69].1 0[0].9
1 =
1C
AUX
INPUT OUTPUT
67 11
R[69].2 0[0].10
1 =
1C
AUX
INPUT OUTPUT
68 12
R[69].3 0[0].11
1 =
1C
AUX
INPUT OUTPUT
129 13
R[73].0 0[0].12
1 =
1C
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AUX
INPUT OUTPUT
130 14
R[73].1 0l[0].13
14 ]k
AUX
INPUT OUTPUT
512 15
R[96].15 0O[0].14
15 1 E
AUX
INPUT
1024 OUTPUT
AUX_END 16
<R[128].15> 0Ol[0].15
16 1k
OUTPUT OUTPUT
17 17
O[1].0 o[1].0
17 = /|2
AUX
OUTPUT OUTPUT
1 33
R[1].0 0[2].0
18 =/
AUX
OUTPUT OUTPUT
2 37
R[1].1 0O[2].4
19 = /|2
AUX
OUTPUT OUTPUT
7 38
R[1].6 0[2].5
20 = /|2
AUX
OUTPUT OUTPUT
12 40
R[1].11 0O[2].7
21 = /[
AUX
OUTPUT OUTPUT
32 48
R[2].15 0[2].15
22 =
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23

24

25

AUX
OUTPUT
44
R[3].11 OSR
H F One Shot Rising
Storage Bit BitArray[0] —(SB)—
Output Bit R[58].1 | (OB
AUX
OUTPUT LATCH
86 A00918
R6].5  R[58].5
S G
AUX
OUTPUT LATCH
919 A00918
RIS8L6  RI585
JC U

-~ TIMERSANDCOUNTERS
TIMER TIMER

INPUT SECONDS
00-0017 R0900
R[2050].0 RTO
5 E Retentive Timer On —CEN
Timer T0900 —(DN)—
Preset 60000
Accum 0
TIMER TIMER
RESET SECONDS
10-0017 R0900
R[2114].0 T0900
q F RES
TIMER TIMER
SECONDS R0900
R0900 DONE
TOQTOOF.DN R[58].7
I C
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TIMER TIMER
INP/RST TENTHS
12-0017 R0901
R[2370].0 RTO
26 1 E Retentive Timer On —CEN
Timer T0901 —(DN)—
Preset 6000
Accum 0
TIMER TIMER
INP/RST TENTHS
12-0017 R0901
R[2370].0 T0901
= /B RES
TIMER TIMER
TENTHS R0901
R0901 DONE
T0901.DN R[58].8
=lis
TIMER TIMER TIMER
INP/RST HUNDRED HUNDRED
05-0555 R0903 R0903
R[2723].10 MUL RTO
27 5 F Multiply Retentive Timer On —CEN
Source A R[902] Timer T0903 (DN ) —
9000 Preset 0
Source B 10 Accum 0
Dest  T0903.PRE
0
TIMER TIMER
INP/RST HUNDRED
05-0555 R0903
R[2723].10 T0903
= / [ RES
TIMER TIMER
HUNDRED R0903
R0903 DONE
TOQTOST.DN R[58].9
JC
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COUNTUP COUNT
INPUT upP
05+0555 R0904
R[675].10 CTU
28 5 F Count Up —Ccu
Counter C0904 —(DN ) —
Preset 999
Accum 0
COUNTUP COUNT
RESET upP
05+556 R0904
R[675r’[.1 1 C0904
5 F RES
COUNT COUNTUP
upP R0904
R0904 DONE
C0904.DN R[58].10
1 E
COUNTDN COUNT COUNT
INPUT DOWN DOWN
19+0003 R0906 R0906
R[1217].2 MOV CTD
29 q F Move Count Down —(CD
Source R[905] Counter C0906 —( DN —
32767 Preset 0
Dest C0906.PRE Accum 0
0
COUNTDN COUNT
RESET DOWN
19+0004 R0906
R[1217].3 C0906
5 F RES
COUNT COUNTDN
DOWN R0906
R0906 DONE
C0906.DN R[58].11
1 E
———BTD
30 Bit Field Distribute
Source 1[4]
0
Source Bit 0
Dest 1[4]
0
Dest Bit 1
Length 1
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E:\GE6.ACD

31

32

BTD

Bit Field Distribute
Source 1[4]
0

Source Bit 0
Dest 1[4]
0

Dest Bit 1
Length 1

I/0 REG
RESULT
R0907

33

MOV
Move
Source 1[5]
0

Dest R[907]
0

34

MOV
Move
Source R[908]
0
Dest OI[5]
0

35

TOD
To BCD
Source R[909]
0

Dest oI6]
0

BCD BIN
RESULT
R0910

——FRD———

From BCD
Source 1[6]
0

Dest R[910]
0
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. MCRZONE
MCR
INPUT
10035
I[2].2
36 5 F MCR

~ DBASICARITHMETICFUNCTIONS
ADD

RESULT
C
ADD

37 Add
Source A OPER_A
<R[911]>
0

Source B OPER_B
<R[912]>
0

Dest OPERMC
<R[913]>
0

ADD ADD
RESULT FAULT
C A00925
ADD R[58].12

38 Add
Source A SIXSEC
<T0901.ACC>
0
Source B R[915]
0

Dest R[916]
0

COMPARE
SOURCE TRASH
A REGISTR
—EQU—— ——SUB——
39 Equal Subtract

Source A R[917]
0

Source B R[918]
0

Source A R[919]
0
Source B R[920]
0

Dest R[299]
0
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SUB
SOURCE
A A<B
LEQ R[58].13
40 Less Than or Eql (A<=B)
Source A R[921]
0
Source B R[922]
0
41 MCR

L41
42 [ NOP | JMP O——

e . SPECIALFUNCTIONs
e SCREQ
e COMM
e FAILURE
e PCE R[58].14
43 e Program Conversion Error
e Error/Warning Message ID SCREQ
e Error Locator ID 00D2
e
e
e
e DPREQ
e COMM
e FAILURE
e PCE R[58].15
44 e Program Conversion Error
e Error/Warning Message ID DPREQ
e Error Locator ID 00D5
e
e
-~ DATAMOVEFUNCTIONS
MOVE
RESULT
B
L41 MOV
45 — LBL | Move
Source 123
Dest R[923]
0
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MOVE
LEFT
RESULT
MVM
46 Masked Move
Source I[8]
0
Mask 16#FFO00

Dest R[924]
0

MOVE
RIGHT
RESULT
MVM
47 Masked Move
Source I[8]
0

Mask 16#00FF

Dest R[925]
0
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48

DATA
PROCESS
REQUEST

MOV
Move
Source 1257
Dest R[880]
0
MOV
Move
Source 2
Dest R[881]
0
MOV
Move
Source 0
Dest R[882]
0
MOV
Move
Source 321
Dest R[883]
0
MOV
Move
Source 211
Dest R[884]
0
MOV
Move
Source 0
Dest R[885]
0
MOV
Move
Source 0
Dest R[886]
0
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~ SIGNEDARITHMETICFUNCTIONS
ADDX

RESULT
C
ADD

49 Add

Source A R[926]
0

Source B R[927]
0

Dest R[928]
0

TRASH
REGISTR
SUB
50 Subtract
Source A R[929]
0

Source B 2

Dest R[299]
0

A<B
LEQ R[59].0
51 Less Than or Eql (A<=B)
Source A 50

Source B R[930]
0

MPY
RESULT
C
MUL

52 Multiply
Source A R[931]
0

Source B R[932]
0

Dest R[933]
0
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53

DVD
RESULT
QUO
DIV

54

Divide

Source A R[934]
0

Source B 2

Dest R[935]
0

DVD
RESULT
REM
MOD

Modulo

Source A R[934]
0

Source B 2

Dest R[936]
0

DVD
SOURCE
QuUO

DIV
Divide
Source A R[937]
0

Source B

Dest

3

R[938]
0

DPADD
RESULT
Cc

55

ADD

Add
Source A

Source B

Dest

D0939
0
75000

D0941

0

DPSUB
RESULT
C
SuUB

56

Subtract

Source A D0943
0

Source B D0945
0

Dest D0947
0
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57

58

59

60

DPSUB
RESULT
C
GRT

Greater Than (A>B)
Source A D0947

0
Source B 32768

DP
GREATER
RESULT
R[59].1

-~ FLOATINGPOINTARITHMETIC
FADD

RESULT
ADD

Add
Source A

Source B

Dest

F0949
0.0
0.5

F0951
0.0

FSUB
RESULT

——SUB———

Subtract
Source A

Source B

Dest

FMULT
RESULT

MUL

Multiply
Source A

Source B

Dest
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FDIV
RESULT
C
DIV
61 Divide
Source A F0964
0.0
Source B F0966
0.0
Dest F0968
0.0
FDIV FP
RESULT GREATER
C RESULT
GRT R[59].2
62 Greater Than (A>B)
Source A F0968
0.0
Source B 0
INT FP
RESULT
R0970
MOV
63 Move
Source DO577
0
Dest F0970
0.0
MOV
64 Move
Source F0970
0.0
Dest D0579
0
EQUAL
SOURCE A=B
A RESULT
—EQU—— R[59].3
65 Equal
Source A  R[6230]
0
Source B R[6231]
0
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-~ TABLEMOVEFUNCTIONS
SRC TAB SRC TAB
POINTER POINTER
FAL Ctrl00.EN
66 File Arith/Logical —CEN U
Control Ctrl00
Length 1 —(DN >—
Position 0
Mode INC —CER >—
Dest R[1002+Ctrl00.POS]
0
Expression R[1000]
SRC TAB SRC TAB
POINTER POINTER
FAL Ctrl01.EN
67 File Arith/Logical —CEN U
Control Ctrl01
Length 5 —(DN >—
Position 0
Mode INC —(ER)—
Dest R[1005+Ctrl01.POS]
0
Expression R[1003]
TAB DST TAB DST
TABLE TABLE
FAL Ctrl02.EN
68 File Arith/Logical —CEN U
Control Ctrl02
Length 1 —(DN)—
Position 0
Mode INC —(CER)—
Dest R[1012]
0
Expression R[1011+Ctrl02.POS]
TAB DST TAB DST
TABLE TABLE
FAL Ctrl03.EN
69 File Arith/Logical —CEN U
Control Ctrl03
Length 5 —(DN)—
Position 0
Mode INC —(CER)—
Dest R[1019]
0
Expression R[1014+Ctrl03.POS]
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TAB TAB
TABLE
B
MOV
70 Move
Source  R[1020]
0
Dest R[1025]
0
TAB TAB
TABLE
B
COP
71 Copy File
Source  R[1020]
Dest R[1025]
Length 5
TAB EXT
TABLE
B
COP
72 Copy File
Source  R[6355]
Dest R[7634]
Length 64
~ THISRUNG IS SHOWING THE INDIRECT ADDRESS FUNCTION.
MOV
73 Move
Source R[R_301]
0
Dest R[R_302]
0
-~ LISTFUNCTIONs
FFL
74 FIFO Load —CEN )>——
Source I[71 HCDN)>—
FIFO R[1031] —EM )—
Control Ctrio4
Length 10
Position 0
FFU
75 FIFO Unload —CEU >——
FIFO R[1031] —(DN —
Dest o[7] —(EM —
Control Ctrl05
Length 10
Position 0
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SRT
76 Sort File —CEND)——
Array R[1040]
Dim. To Vary 0 (DN )—
Control Ctrlo6
Length 10
Position 0
-~ MATRIXFUNCTIONs
AND
RESULT
C
AND
77 Bitwise AND
Source A R[1060]
0
Source B R[1061]
0
Dest R[1062]
0
FAL
78 File Arith/Logical —CEND)——
Control Ctrlo7
Length 3 DN >—
Position 0
Mode ALL —CER)>—
Dest R[1069+Ctrl07.POS]
0
Expression R[1063+Ctrl07.POS] AND R[1066+Ctrl07.POS]
IOR
RESULT
C
OR
79 Bitwise Inclusive OR
Source A R[1072]
0
Source B R[1073]
0
Dest R[1074]
0
FAL
80 File Arith/Logical —(EN >——
Control Ctrlo8
Length 3 DN )—
Position 0
Mode ALL —CER >—
Dest R[1081+Ctrl08.POS]
0
Expression R[1075+Ctrl08.POS] OR R[1078+Ctrl08.POS]
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81

82

83

84

85

®DODDOD®DD®DD®DDD D

EOR

RESULT

C

XOR

Bitwise Exclusive OR
Source A R[1084]

0
Source B R[1085]
0
Dest R[1086]
0
FAL
File Arith/Logical —(EN >——
Control Ctrl09
Length 3 —(DN)—
Position 0
Mode ALL HCER)—
Dest R[1093+Ctrl09.POS]
0
Expression R[1087+Ctrl09.POS] XOR R[1090+Ctrl09.POS]

INV

RESULT

B

NOT

Bitwise NOT
Source  R[1096]

Dest R[1097]
0

0

Control
Length
Position
Mode
Dest

Expression

File Arith/Logical

Ctrl10
3

0

ALL

R[1101+Ctrl10.POS]

0

NOT R[1098+Ctrl10.POS]

—(END>——
—(DNO—
—ER>—

DDT
Diagnostic Detect
Source I[8]
Reference R[1110]
Result R[1111]
Cmp. Control Ctrl11
Length 16
Position 0
Result Control Ctrl12
Length 16
Position 0
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BIT AUX
INPUT  SET/RST OUTPUT
133 MATRIX 933
I[8].4 R[1130].0 R[59].4
86 JE L
BIT
SET/RST
MATRIX
R[1130].0
1L
1 C
BIT BIT AUX
INPUT  SET/RST  SET/RST OUTPUT
134 MATRIX MATRIX 934
I[8].5 R[1130].0  R[1130].0 R[59].5
87 T E u =/
BIT
SET/RST
MATRIX
R[1130].0
0 C
1 C
COP
88 Copy File
Source R[1131]
Dest DINTArray[0]
Length 1
SHIFT L
MATRIX
BSL
Bit Shift Left —CEN)>—
Array DINTArray[0]
Control Ctrl13 —(DN)—
Source Bit BitArray[1]
Length 32
SHIFT L
MATRIX
COP
Copy File
Source DINTArray[0]
Dest R[1131]
Length 2
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———COP————
89 Copy File
Source R[1133]
Dest DINTArray[0]
Length 1
SHIFT R
MATRIX
BSR
Bit Shift Right —CEND)——
Array DINTArray[0]
Control Ctrl14 (DN )—
Source Bit BitArray[2]
Length 32
SHIFT R
MATRIX
—COP———
Copy File
Source DINTArray[0]
Dest R[1133]
Length 2
-~ CONTROLFUNCTIONS
FOR
90 For
Routine Name Sub01
Index DINTIndex[0]
0
Initial Value 0
Terminal Value  R[1150]
Step Size 1
(End)
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AUX
OUTPUT
935
R[59].6
0 | NOP |
1 [ NOP |
2 [ NOP |
3 [ NOP |
4 [ NOP |
e PCE
5 e Program Conversion Error
e Error/Warning Message ID  WINDOW FUNCTION
e Error Locator ID 01E6
e
e
RET—
6 Return from Subroutine
(End)
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